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F or thecandidates admitted from 2017-2018 onwards)
LL.B. DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2023.
(Three-year Reéular Course)
* First Year — First Semester
LAW OF TORTS
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

9 eimeu meuaTeLHmIET @6 DS aeiQeurm eflammeilh@b gpSSTp SO0 Qempsafle
_ ellen_LET&&6LD.

1.  Describe the general defences that are applicable to all torts.
asss SudnEh QUIEHSID Curgeurer créliraursmsemer upHl afleuflEsab.

2. Discuss about the concept of contributory negligence with decided cases.
FHUTE seuardlamend Erereid smsSwame® UHD Sirorelssiul L QULDE (&5 (ETh L6
aleurdésa]lb.

3. “Motive is irrelevant in law of tort” — Discuss.

“Eriflud sl gl Crrésld eTamg Qsmrupng)” — aﬂsurr‘éﬂésa;-eum.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

QeneumeuaTaIDpIeT GrermiyHE gedeum el h@h FmEsny 300 Qerhsefied
allenL_wel&sa L.

4 What are the circumstances under which an employer can be made liable for
the wrongs of independent contractor?

sHETruTar  @UUBSSTIE  Salprer QeudsErsE Lailwrarmowr absms
GLadled QUTmILILITE (Pig LD ? :
5. Discuss the liability of the owner of animals for the damages caused by them.
- eeiti@EseT Gpss SAMIGEHESE SISET o flepwwrerfler Qumpii) Heaauiear
upifl efleurdlésa]Lb.
6. Discuss in detail about foreign tort with decided cases.
s Snflamen LHH SroreallssluLL Q&GS @56 6ileundlsEsayid.




PART C — (b x 4 = 20 marks)

. Write short notes on FIVE of the following :
 Aeau(peuaneupmiaT ohdn@ fn GHuysE s

(a) Passing off

auaflst Gued

(b) Conspiracy
g8 7

(¢) Conversion
AGWITL 6D

(d) Assault
STESHAPHSTSED

(e) Doubtful torts
Bus S

® L_iquidated damages
Sp@@Ltuc e l

(g) Hollywood Silver Fox Farm vs Emrhette (1936) 2 KB 468
anrellayl Hdeuit SUTGED SHUMTD - TSl - erb@uwL (1936) 2 KB 468

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and decided

10.

cases. Give cogent reasons.

' nﬁlsistm@mmmﬁ)gjdf Qe @ sLL IDELIEISET ;og?gubﬁr’rmrraﬂ&a;ﬂuu_ UPEGEDTE

g S@SbS & ITIyewT kIS (EhL 6o anLwefl&seyb.

‘A’ plucked some gooseberries from the branch hanging over his house. But,

' the tree belonged to ‘B’. Has ‘A’ committed any tort?

‘A aeuai saig oty Qsudlnss SHeemldkba Qpéedl&smisamen
udsHprr. opemd <ps LI B aaLmEE GFmpgLTaTE. ‘A’ gCGaab
Srfleopsgiememmym? ‘ , :
A circus monkey escaped and injured a child. Discuss the liability of the circus
management.

v afsd @rastag su9sE @f Gbesuiamarn STULURSSEDG. Fisew
gg)jmmgﬁsh%ur@ju e <TG, : .
X’ made a statement that ‘Y’ is suffering from AIDS. Does X’ committed any
tort? '

X erarueuir Y erémueu eriaev Gprulenmed urdssulGeterti ereng Sagdlpmi.

X gGsaub S yhpsierermyr?
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